ct. FIHE -0 4 S2E
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2014 2014 Z=7H(B-A) 2014 2014 Z7H(B-A)
2 st = 1X54 PEN R 2 st = 1X&4 2A =24

() (8) A% |Hs® (A) (8) A% | BIB(%)
sk oA 2,534,881 2,523,083 |- 11,797 |- 0 st Al 2,534,881 2,523,082 |- 11,799 |- 0
Ated =l Ated =l E | 457,202 395,071 |- 62,131 |- 14 AbRH| ol 14| A A 271,034 267,636 |- 3,398 |- 1
At =2l 264,500 182,445 |- 82,055 |- 31 ol Z4H| 271,034 267,636 |- 3,398 |- 1

INESPSETES lalell ~ A
Abed 2ol 192,702 212,626 19,925 10 (=& s 68,189 68,179 |- 10 |- 0
Hzxafel | HxZa249 A~ A 1,644,878 | 1,686,771 41,893 3 Qlz1]| 68,189 68,179 |- 10 |- 0
ZIExZ 1,623,558 | 1,645,586 22,028 1 A & F=Xly| &~ A 2,820 3,000 180 6
ANER=Z 13,320 33,185 19,865 149 7| 22| 2,520 3,000 480 19
JEIE=Z 8,000 8,000 - - 3| oy| 300 - 1= 300 |- 100
FAFTY | =HaTY 2~ A 110,618 114,280 3,663 3 2| E | 39,123 38,985 |- 138 |- 0
ANEd=e= 109,618 113,290 3,672 3 0 3,679 3,600 |- 79 |- 2

< +=2d|g
HIX Y= 1,000 991 |- 9 |- 1 = 9,808 10,410 601 6

T T=
ez ez 2 A 12,000 12,000 = - S32=7 7,424 7,356 |- 68 |- 1
HolMel g 12,000 12,000 - - M A= z2 5,738 5,738 - -
o= o= 2~ A 36,319 36,319 = = o 2| 113 211 98 87
MAZo|HZ 36,319 36,319 - - 7| Et2dH| 12,362 11,671 |- 691 |- 6
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[Sadc [Sadc = A 646 77 125 19 (:"fﬂ)l = A 4,335 4,885 550 13
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ol b4l 346 37 25 7 | 1,250 1,003 |- 246 |- 20
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M e A =
2014 2014 =2ZH(B-A) 2014 2014 Z=27H(B-A)
&t = 1Xt54 PENEF 2 &t = 1Xt&4 RS E!
W (&) AT [uIE®) (A) (8) A% | uIB(%)
NSNSl o
Aol A~ A 273,219 277,872 4,653 2 2322F 1,759 1,662 |- 97 |- 5
=
off &M 152,039 161,051 9,012 6 H A 22 759 759 - -
HEHEF 112,892 | 108,529 |- 4,363 |- 4 7|Et2 g H| 500 870 370 74
oz 1,895 1,896 1 0 | MAt=MH] | AlAH| & A 45,690 29,000 |- 16,690 |- 37
ARl F=e|MEF 6,392 6,396 4 0 Al AdH| 42,276 18,000 |- 24,276 |- 57
RpAbE| S| 866 8,000 7,134 824
gz 2,548 3,000 452 18
T | ’ ’
AtdH] | ME{ALLH] & A 131,583 155,026 23,443 18
SAX| ALY 4,655 25,794 21,139 454
PN =N il _ _
Z2 | 785 700 85 11
Abed BHE| AL 95,480 100,500 5,021 5
Ho{Xtus=H
AbSH| 650 650 - -
0 Rtel K|
=R Aol b 2,300 1,154 |- 1,146 |- 50
O RHF &Y
x| 21 Akl 700 708 8 1
ArghAted
23| 2l 19,517 19,517 - -
EHAIGH| 1,120 1,120 - -
A FALRAH| 3,675 3,225 |- 451 |- 12
SXUHENZ
Arel| 2,700 1,657 |- 1,043 |- 39
A2 R
Atelt] 2~ A 1,064,430 | 1,112,563 48,133 5
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o B = 1=xa | oxtxd o st = 1%zd | oxtxz
() (8) A% |Hs® (A) (8) A% | BIB(%)
gz =2
AFQIH 1,064,430 1,112,563 48,133 5
FH=x|
ALl b = A 160,940 | 154,840 |- 6,100 |- 4
FH=E
ALt m] 160,940 | 154,840 |- 6,100 |- 4
SRR N
WM Abola| = A 242 110 | 160,105 |- 82,005 |- 34
X ZE7HM
Alodul 242,110 | 160,105 |- 82,005 |- 34
NEREIES
Aleln| = A 195,321 215,245 | 19,924 10
INEPITES
ALt b 195,321 215,245 | 19,924 10
ESPNES
Al = A 30,887 30,267 |- 620 |- 2
HAad
AMTEAIH| 8,005 8,005 - -
ZI 2 X2 AL | 1,900 1,896 |- 4 |- 0
Ab2| 2He| AbiH| 18,460 18,630 170 1
7tE ol s)
Alotn| 1,777 991 |- 786 |- 44
ZAFA AL H| 200 200 - -
Rhel S AR &
ARl 2l ® 4 - -
SEAH] 500 500 - -
NN ~ A - 279 279 | #DIV/0!
S2F37|
ZAtgE| | 23lbs Al - 279 279 | #D1V/0!
NEERE N ] )
=0 ~ A 5,000 5,000
PSS Bt
7| R 2l g
EIES PPN ea! L;Hj,ﬁl 5,000 5,000 - -
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mBRE | "AE A 100 100 -
E 100 100 -
ofgjel | ofs|sl A 100 100 -
of[ 8] ] 100 100 -
RIEATRICh | RFEEATRICF
AN S A P 273,219 | 277,872 | 4,653
ME MZE
AtgtAtd et
! 073,219 | 277,872 | 4,653




